Important Note : 1. Or completing your answers, compulsorily draw diagonal cross lines on t e remaining blank pages.

50, will be treated as malpractice.

2. An: revealing of identification, appeal to evaluator and /or equations writ: 'n eg, 42+8
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System Software and Compiler Design

Max. Marks: 80
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Note: Answer any FIVE full questions, c[zmsmg ONE full questtons rom each module.
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- Module-1
a. What is System Software? Compare system software w1th appllcatlon software and give
examples. % (04 Marks)
b. Explain the instruction formats id addressing modes of §IC/XE Machine Architecture.

(08 Marks)

c. Write a sequence of In; tm%xons for SIC/XE to cleaﬁa 20 byte character string to all blank.
[N Gy (04 Marks)

OR.’“?gs

a. What are the Eundamental functions that y Assembler must perform? Explain any six
assembler directives with example. \ }‘ (08 Marks)
b. What is MACRO? Briefly discuss various data structures requlred for design of MACRO

PROCESSOR. P (08 Marks)
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W Module-Z PN A,
a. Explain the working of Llukage editor and Lmkmgg ) der. ”«g‘?em (08 Marks)
b. What is a Loader? Developwcn algorithm for Bootstrap loader w@% R4 (08 Marks)
&m}fﬁwﬁa y & w
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a. What 1s Relooatron‘7 Explam the metho Tor spemfym ““Wf“ocation as a part of object
program. - (08 Marks)
b. fires of the Sun O,S 1;;@%5 for SPARC systems (08 Marks)
i w.%
Module 3

(10 Marks)

Construct a transmonypdi%gram for relatlonal operator. Write the program segment to
ng “the first state and one ‘final state. (06 Marks)
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a. What s prmted by following ‘C” program Fragment
# define a(x:t 1)

m x=2;
voidb () {intx=1; pr"

r
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void ¢ ( ) {prlntf(“% a);}
void main () {b () ;e ( ) }. (03 Marks)
b. Give the reasons, why the analysis portlon of a compiler is separated into lexical analysis
and parsing phases (03 Marks)
c. Explain the strueture of Lex program and write a Lex program that recognize the tokens if;

then, elsg, id , number and relational operator. (10 Marks)
; 1 of2




10

o

15CS63

Module-4
Construct a predictive parsing table for the followi 1gsgrammar by making suitable changes
toitt. E->E+E|E*E|(E)|id ® e (10 Marks)
What is Handle Pruning? Construct Bottom e tree for the input string w = aaa * a++

using the grammar S — S S+|S S *|a. (06 Marks)
©OR
Show that following grammar is no SLW).
S—L=R|R
L—-*R|id Py
R—L. ™ (10 Marks)
What is a Shift — reduce Pa What are the actions Ofggh?ﬁﬁ — reduce Parser? Explain.
& (06 Marks)

Write the SDD for simple type declaration and construct dependency graph for a declaration

float id, , id2, i (08 Marks)
Translate th
(08 Marks)
1B (10 Marks)
Give SDD for simple desk ruct annoted parse tree for the expression
(06 Marks)

(3+4)*(5+6)n.
N



